Adding and Subtracting involving Negative Numbers

1) 18 - 19 =
2) 43 - 45 =
3) 19 - 27 =
4) 29 - 43 =
5) 23 - 48 =

6) -9 + 7 =
7) -23 + 5 =
8) -9 + 23 =
9) -23 + 45 =
10) -25 + 48 =
Word Problems
1.) Mr and Mrs Smith had £18 in their bank account. At the end of the month they had to pay three bills. Their telephone bill was £6, their gas bill was £5 and their electricity bill was £9. How much debt were Mr and Mrs Smith in?


[bookmark: _GoBack]2.) Martin had £50 in the bank. He had to spend £54 on his car. What was the total of his debt?




